
I.D.:	44406687

PIESE	INTRETINERE	UTILAJE	AGRICOLE

Data
publicarii

28.10.19 Coduri	CPV 16810000-6

Pretul
estimativ:

1.343,84	RON	-	1.343,84	RON 	 	

Descriere: CAMERA	1400-38	1	BUC	CAMERA	900-20	1	BUC	ULEI	H46	20L	1	BUC	SURUB	CAP	HEX	M8*40
10	BUC	SURUB	CAP	HEX	M8*50	5	BUC	SAIBA	PLATA	M8	15	BUC	PIULITA	HEX	M8	15	BUC	VALVA
MECANICA	1	BUC	LUCRARI	VULCANIZARE	1	BUC	GARN	U650	GALERIE	EVACUARE	1	BUC	SURUB
CAP	INECAT	M8*30	10	BUC	ULEI	MOBIL	15W40	DELVAC	20L	1	BUC	CUREA	SPA	1332	RUBENA	1
BUC	SET	SUPAPA	MOS+BABA	CU	CON	IT	3	BUC	RACORD	M20*20	8	BUC	INEL	O	17.2	*	3	8	BUC
SURUB	CAP	HEX	M12*50	4	BUC	PIULITA	HEX	M12	4	BUC	SAIBA	PLATA	O12	8	BUC	PISTOL
UNFLAT	CU	MANOMETRU	1	BUC	CUI	TIRANT	20001952200	4	BUC	205/60	R15	BF	GOODRICH
VARA	1	BUC


